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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 2,133
101 2124 35,549 0 35,549
= 28,439
& 4,977
Al 2,133
M I1RINZ2Z2sSEs 35,549 0 35,549
Oflg=02&2lAl 35,549
—ol2d| 35,549
= 28,439
& 4,977
Al 2,133
AIZER2I A WS (2 ES0H22IA-BRE) 37,711 0 37,711
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& 5,279
Al 2,263
101 2124 d| 37,71 0 37,71
= 30,169
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Al 2,263
03 BRA(RIHL) 22X 37,71 0 37,71
Oflg=0&2lA 37,71
— oIl 37,711
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—HAHZAIH & WEH|
200,000 x 15+ 12& 2,400
—HEFOHI 1,400,000& »1H +23] 2,800
— It &M 100,000& * 14 1,400
—IE=4 100,000 x1H +12& 1,200
M IIZINZ22 NS Es 1,000 0 1,000
O =20 2eIAL ScIZ=MHI(I12HA) 1,000
—GII2 &t 100,000 x 10! 1,000
HH2AHY|(FOMEXAD) 374,513 334,289 40,224
= 83,279
& 8,116
Al 283,118
oI 2I| 263,729 222,829 40,900
= 83,279
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101 e124d| 83,846 80,066 3,780
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Al 24,349
—Al2tel g
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HE S| 4,826
202 04l 3,900 3,900
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SETAtAIZ2IAH(RI1H ) eI4H] X 111,937 75,633 36,304
= 50,814
Al 61,123
101 21A4H| 11,237 74,933 36,304
= 50,814
Al 60,423
03 SR (RIH )22+ 11,237 74,933 36,304
OSE A 22 AH3E) 11,237
—QI2A4H| 2,823,000& ~3F 122 101,628
= 50,814
Al 50,814
—SEFIHI 6,268
—CItE &I 1,901
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01 =LHO4b| 700 700
OSE At Z2|AF HRFA Y| 700
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01 At 2elt] 32,940 32,616 324
fFA2II =23 32,940
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01 =WHO4bI 72,684 72,684
O=U0| 72,684
203 PYRF=&IH| 5,160 5,160
M MBI HRFA| 5,160 5,160
ORN2ILRFAI 5,160
HRES(F0IME XA ) 2,831,978 2,243,320 588,658
LHEHH K= 2,273,790 2,100,017 173,773
LHEHCHKI= 2,273,790 2,100,017 173,773
701 JIEISI HSHEZ 2,273,790 2,100,017 173,773
01 JIEtSIHEES 2,273,790 2,100,017 173,773
Oflg=0 dzHl & 2,273,790
ISFSDNES 558,188 143,303 414,885
SRS PNES 558,188 143,303 414,885
802 Brat3J|Et 558,188 143,303 414,885
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OsSHS AEgSeMtIA 500
OA =223 2= 50,000
OAMAZI ML HAH N (2SS HZEIAL 4,000
OXIS At AEIASE X 10,5%4
02 Al - CHIEXSEHE S 197,7%4 70,929 126,865
OXHE ALY 2 0F 5,000
O =20k 50,000
OMali== 41,000
OSER3EN 25 =¢ 1,000
OSERSEA =5 2= 2,000
06.25 2HEU ¢ 70,000
(OF=1=f=FSESJUIERS 20,000
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